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Redrawn with rising numbers  of  the P.C. board terminals 

[image: image5.png]ods For T 1000
G Lz iy L
D = o =) e
PC-300C 5 wal 2 1 127
RaRI) i3 ax s ot Sl ) TERES
e N 5= i
s
o] s o Dznm E olE e
e el e
ES i o [T s
an v o | o o 2 i =
BB s o f 2 )
3 gy | e ! e
e U e el Lot I e O o
B il Sallang U | |
L < 5
1% Iy 1 - g
| ERIED ok Lo
o s
& T o =
= )
=] s ooe [ LA N
s e e
=) waw | O
=T = o
)
% B e
e aess Fic o T[T
[ W w "
A | NI T
L | R 5| 8 Tohar | g
= T (T 8 g o T
F 3 o [#2]] |5 ~
E 5 z5 g B s B
5 5 2 g s 5
o g |8 o pee B 8l 2 - - I -1 Y
= g 5 oy Oee B gl £ (3 B 3| 2 i
; g i g 2 3 5| = g
- -
7 0 0 0 0 D 6 @ @ DB e @ G





Redrawn  with mods

